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KiAAFR:  topic num(dimension) PALRR: I IER %
t_w2v_test: train word vector on train-set(1500 documents)
w2v_test_char: train word vector on renminribao-char,
w2v_test_new: train word vector on renminribao-word,
test-set: 200 documents

Ida_test_char:  train topic-documents on train-set-char
Ida_test_new: train topic-documents on train-set-word
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PABKR: 73RN A%
t_w2v_test _50:
w2v_test_char_50: train word vector on renminribao-char,
w2v_test_50: train word vector on renminribao-word,

test-set: 200 documents

Ida_test_char_50: train topic-documents on train-set-char
Ida_test_50: train topic-documents on train-set-word
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train word vector on train-set(1500 documents)
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